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1.! First, study remote sensing data, maps, etc. !
2.! Decide how big an area to measure.!

•! Science driven!
•! Technology, safety, finance and time constrained!

3.! Determine the spatial sampling rate.!
•! Science driven!
•! Technology, finance and time constrained!

4.! Determine the temporal sampling rate.!
•! Science driven !
•! technology, safety, finance and time constrained!

5.! Determine the order of measurements!
•! Primarily technology constrained, but also by safety 

and time!
6.! Decide where to begin measurements!
7.! Randomly select locations and proceed (not on Mars)!
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